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INSTRUCTIONS AND INFORMATION

1.

2.

10.

This question paper consists of FOUR questions. Answer ALL the questions.
Use ANSWERSHEET A to answer QUESTION 2.2.3.

Number your answers correctly according to the numbering system used in this
question paper.

Start EACH question on a NEW page.

You may use an approved calculator (non-programmable and non-graphical), unless
stated otherwise. '

Show ALL caler |
Round ALL final. cording to the context given, unless stated otherwise.
Indicate units of m ‘_i_,ents,_ where applicable.
Write neatly and legibly.

Maps and diagrams are NOT necessarily drawn to scale, unless stated otherwise.
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QUESTION 1

1.1 | Ms Mokhethi has a Savings Banking account at ABC bank. Below is an extract from
one of his statements as well as an extract of the fee brochure for this type of an
account. All amounts shown in the statement are in rands.

Table 1: Ms Mokhethi’s bank statement

Date Description Debit Credit Balance
01/12 Opening balance 15 339,14
02/12 Cash withdrawal at ABC ATM 700.00 14 639,14
02/12 Cash withdrawal fee A 14 633,89
09/12 POS cash withdrawal ai P&P 521,89 14 112,00
09/12 POS cash withdrawal _ 400,00 13 712,00
09/12 | POS purchase and withdrawal 4,30 13 707,70
fee
17/12 Cash deposit at branch counter 600,00 14 307,70
17/12 | Cash deposit fee 19.70 B
Table 2: ABC banking fee brochure
Transaction | Fee description
Deposits
Cash deposit: Branch counter R8,00 + R1,95 per R100
Cash deposit: ABC ATM R4,00 + R1,80 per R100
Withdrawals
Cash withdrawal: Branch counter R50,00 + R1,90 per R100
Cash withdrawal: ABC ATM _ RS5,25 per withdrawal
Cash withdrawal: Point of sa-lf;.’-'@t)g) R2,15 per transaction

Use the tables above to answer the questions that follow.
1.1.1  Write down the'month on which the bank statement was issued. (2)
1.1.2  Explain the term debit in the context of the bank statement. (2)

1.1.3 Determine:

(a) A, the withdrawal fee on 02/12. (2)
(b) B, the balance on 17/12. (2)
1.1.4 Show how the deposit fee of R19,70 on 17/12 was calculated. (2)
1.1.5 Calculate the total amount withdrawn from this account shown in the extract (2)

of the bank statement above.



1.2

1.3
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Mr Mokhethi invested R10 000 at another bank at an interest rate of 7.5%
compounded annually. Determine the value of the investment after 2 years.

(6)

Below is the list of groceries with the average prices for each item in 2022 and in 2023.
Item Price 2022 Price 2023 % Change
Bread (loaf) R 17.00 R 19.50 A
Milk (/) R 16.49 B 14%

Wild Island (juice) C R 16.99 5%
Chicken (2kg) R 55.00 R 72.50 D

[Adapted from www.pricecheck.co.za]

1.3.1 Define the term inflation.

1.3.2  Determine the price of milk in 2023 if the average inflation rate was 14%.

Round off your answer to two decimal places.

1.3.3  Calculate the percentage change of bread.

1.3.4  Explain what it means if the inflation rate is 5,3%.

1.3.5  Calculate the price of the juice (Wild Island) in 2022 if it has increased

by 5%.

(2)
(2)

(3)
(2)
3)

[30]
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2.1
Use the graphs to answer the questions that follow.

2022 income and expenditure

The graphs below show the 2022 income and expenditure for Amina Spaza Shop.
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2.1.1  Define the term break-even point in the given context. (2)
2.1.2  Determine the approximate points for the break-even point. (2)
2.1.3  Determine the month in which the income started to be more than the expenditure.  (2)
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2.2 | Leon wants to buy a new car, but before he signs any contract, he wants to look at
various options. He is interested in buying a used Hyundai i30. He makes an
appointment with a salesperson to show him the various options.

Option 1 Linked Rate Option 2 Balloon Payment
Cash Price R249 995 R249 995
Deposit R20 000 RO
Loan Amount R231 135 R251 135
Interest Rate 10,25% 10,25%
Term of loan 6 years 6 years
Monthly repayment R4 290;00 R3 905,00
Balloon Payment 5 RO 30% of cash price

NOTE: A compulsorym@?oﬁ:pﬂym’éﬂ of R1 140,00 is payable.
A monthly administration fee of R57,00 is added to the monthly repayment.
A Balloon Payment is a final amount that is payable in the last month of the contract.

2.2.1 Define the term loam -« (2)
2.2.2  Show how the Loan Amount for Option 1 was calculated. (2)

2.2.3 Calculate the total amount that Leon will pay after the six years on Option I.  (3)

2.2.4 Calculate the total amount that Leon will pay after six year on Option 2. (3)
2.2.5 Calculate the difference between the amounts in 2.2.3 and 2.2.4. (2)
2.2.6  Explain why the monthly repayment of Option 2 is lower than that of (2)

Option 1 where a deposit has been paid.
[20]
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QUESTION 3

3.1 | The diagram below shows the side views and the respective elevations.

3.1.1 Define the term elevation. (2)

3.1.2 Match each side view with the correct elevation A, B and C. (3)

3.2 | The TVs boxes are packed into the shipping containers before they are exported. The
boxes of TVs packaged are having the dimensions of 97¢m X 10em X 59e¢m. The
shipping containers have the dimensions of 6m % 2.4m x 2.6m as illustrated on the
picture below.

www. bighoxcontainers.co.za

Study the picture above to determine how many TVs boxes can fit into this container.  (5)
[10]
3
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QUESTION 4
A floor plan for StarNet offices is given below. The length of the building on the plan is
11.70 cmand the width is 10.41 cm. An electrical plan is also attached to the floor plan.
Use the information on the floor plan to answer the following questions.
~11.70
i | ELECTRICAL PLAN
i+ I Y i 58 : LEGEND
]_i* = N— —~ Ceiling mounted
light
EOA“DRUDT = - ) £= ' Duplex Receptacle
3 : — outlet
o E Telephone outlet
57 ol
1 —JM r " s smoke detector
5cm feai el )
s ol i \ PASSAGE . 1-ri TR : —
) |
4z -4 -y _j C lré L = N
4 LT | A |
Tk < g | e | Scale: 1 : 200

Use the above plan to answer the following questions.

4.1 Determine the number of telephone outlets in the building. (2)
4.2 Write down the ratio of the outside doors to the inside doors in simplest form. 3)
4.3 Explain the meaning of the scale 1:200 on the plan. (2)
4.4 Use the given scale to determine the actual dimensions of the building. (3)
4.5 The width of the building is 10.41cm. Verify if the width is correct. Show all (3)

calculations and write the answer in metres.

4.6 Determine the probability of finding a window on the eastern wall of the offices. (2)

[15]
TOTAL MARKS : 75
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QUESTION 1 [30 Marks]

Ques. | Solution Explanation
1.1 1.1.1 Decemberv v RT or 12th monthv' ¥ RT 2RT correct month
(2)
1.1.2 | Money taken out of Ms Mokhethi’s ABC saving bank account. v'v"A | 2A Correct definition
2)
1.1.3 | (a)A=R 14639,14-R 14633,89 vMA 2MA subtracting correct
=R 525vVA values
1A Simplification
AO
(2)
(b) B=R14 307,70 - Rl JO¥YMA IMA subtracting correct
=R14 288,00v values
1A Simplification
AO
2)
1.1.4 | Deposit fee 5 per R100
P 2MA Multiplying by 6
=R8,00 + R1,95 x 6¥VMA
=R19,70
or _ _
Deposit fee = R8,00 + R1,95 per R100 2MA Adding R1,95 six
Vv MA times
=R8,00 + R1,95 + R1,95 + R1,95 + R1,95 + R1,95 + R1,95 @)
=R19,70
1.1.5 | Total amount = R700 + R400 + R521,89v' MA IMA Adding correct
values
=R1621,89v A 1A Simplification
(2)
7,5 z
12 1 s year interest = R10 000,00 x 160 vMA IMA.calenlating s
=R750 VA 1A Answer
Amount after 1* year = R10 +R750
' = RI VA 1A value after 1 year.
2nd
1CA simplification
Amount a ar = RIO 75&00 + R806,25 v MCA IMCA adding correct
=R11556,25v'CA i
1CA simplification.
(6)
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1.3 1.3.1 | Inflation is a general increase in the prices of goods and services over a 2A Correct definition.
period. v'V' A (2)
132 | Increase of 14% = R16.49 x === vMA IMA calculating?
=R2,31
Price of milk =R16,49 + R2,31
=R18.80 /R IR l‘OUI’ldil’lg
OR IMA calculating %
Price of milk =R16.49 x — v'MA
IR rounding
- ; ; |
e @)
=R18,80 vR
1.3.3 | Price increase of bread = RIJQL,SO - R17,00 IMA calculating
: VMA increase.
Percentage changé ORBIGARI= o 100v MA inlyi
ercentage chan g o IMA Multiplying by 100
~14.71% v A 1A Simplification
3)
1.3.4 | The prices of goods and services will increase by 5.3%.v' V'O 20 Correct explanation
(2)
138 |= B
R16.99 105 YMA IMA calculating %
=R0.8090
Price of the juice = R16,99 — R0.8090 v MA IMA Subtracting correct
values
=R R16,180952....
=R16.18 VA 1A simplification
OR
vMA IMA multiplying with
Price of the juice = R16,99 x 122 v MA correct %
103 IMA Correct %
=R16,180952.... 1A Correct rounding
decimal
=R16.18V A
3)
[30]
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QUESTION 2 [20]

2.1 | 2.1.1 | Break-even is a point where income and expenses for Amina Spaza Shop is| 2A Correct definition.
the samev' v’ A (2)
2.1.2 | Accept (10,7v" RT; R242 000) vRT 2RT Approximate points
Accept 10,6 — 10,8 and
242 000 — 244 000
(2)
2.1.3 | 11 months.v'v'RT 2RT Correct month
2)
2.2 | 2.2.1 | A loan is money borrowe_d; pay.for a house, car or personal use where 2A correct definition.
interest is charged. ¥\ ¥'A ! (2)
vMA IMA Subtracting
2.2.2 | R249 995 — R20 000+ R R20 000
=R231 135 IMA Adding R1 140
(2)
2.2.3 | Loan amount for Option I~
IMA Adding correct
=R4 290 + R57vMA values
= R4 347 x 72 monthsv' MA ANLA Mraltiphyimng by
months
=R312 984v'CA 1CA Simplification
3)
2.2.4 | Loan amount for Option 2
30 i
100 amount,
< 71vMA .
IMA multiply by 71
1CA simplification
3)
22.5 giicebetween Option 1 and Option 2 CA from 2.2.3 and 2.2.4
— R356 300,50 — R312 984,00 MCA IMC.A. sobtracting
correct values.
=R43 316,50v'CA 1CA Simplification
(2)
2.2.6 | Option 2 is lower because of the balloon payment. v'v'O 20 correct explanation.
2)
[20]
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QUESTION 3 [10 marks]

No. of TVs along the length =

No of TVs along the width =
No of TVs along the height =

Total number of TVs in the container

=6 %24 x4=576 vCA

Que | Solution Explanation
3.1 |3.1.1 |Elevation is a view of a buiding seen from one side v'v'A
or 2A correct definition.
Elevation is used to describe the external appearance of a building.v'v'A
(2)
3.1.2 | Front view: Elevation C v'A 3A Correct answer

Back view: Elevation A v'A

Right Side view: Elevation B v' A (3)
3.2 | TV dimension in meters = 0.97 1 m 9mv'C 1C conversion

IMA dividing correct
values

1 A simplification
1A simplification

1 CA simplification.
(5

[10]

| QUESTION 4 [15]

Page 50f6




Matherd@yitoagle tkrifio msiSbanmers p hainsGaadrie

4.1 | 5 (five) telephone outlets. v'v'RT n
vRT
4 | Ratio=2:6vA 1A
=1:3vCA 1CA ™
form.
_ 3)
4.3 | lunit on the plan reperesents 200 units in realityv'v'O 20 correce Explanation
(2)
4.4 | Actual width=10,41cm x 200 vMA IMA multiply by the scale.
=2082cm 1C conversion
=2 082 + 10
1 Asimplification
=20,82m
Actual length = 11.70cm *
=2340 cm 1A simplification
=2 340cm +
=2340m v A
(3)
4.5 | Width of the building =9,16cm + 1,25¢cm vMA IMA adding correct values
=10,41cm
=10,41 cm + 100v'C 1C conversion.
=0.1041 m vA 1A simplification
3)
4.6 | Probability of a window = Zero (0) v'v" A / Impossiblev'v'A 2A correct probability
2
[15]
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